BEI BETIVHS #3 i it i) r=-20LE ROROMEERDE S,

Kz (1) 4x+3 2 —Tx—2
= Ax(-2)+3 ZEHET IR = Tx(-2)—2 ZEFETUER L
B EOEFLAIASTDR—ATHOTTI W, 200D IZEOZRMEIZEEI AL E
3120,
r=30DLE ROXOMAEIEL & X1,
(1) bx—4 2) 2?2 —2z
=5x3—4 ZEE TRV =323 ZEHETIUTRL
(3) 222 — 9z + 2 4) —42°> —2+6
(3) 3%+ 4x 4) —222+2-1
B) (—z+2) 6) 2(x—1)*-7
2
- (—(—2)+2) EHET LR
(5) (x+3) 6) 2(x—1)*2+3
2 2
(7) —a2* -5z Q) —222 —8r+1 (7) 22° — 4z 8 —2(x+5)°+9

8—(0) 87 (9 9(F) S(6) 9T (@ 9V (D[G] 199 GEI—(S) T8 () LI (6) S— (@) TI—(D[F] 98— (9 6= () 0 1€ 9= @ 18— ()[g) eH# N X NLENE



r DIEPRD EE, —da? + 30+ 1 DEZHEL 2 S0, B) —3(—z+y)*+12 6) 2y +a2i—y
(1) z=-2 2 z=-1

3 z=0 4 z=1
r=—dDEE, RORDMEERKDE X,

() z(z—8)—2 2) —2z(z+6)
(5) x=2 6) r=3

(3) 222 +6x—3 4 —22—4z4+6

r=—4, y=3DLE, ROXDMEERDE X,

() 2z—y 2 zy—x+y

(6) 227 — 4z 6) —2*+8
(3) —day® 42z — 3y 4) 222 +x—7

6—(8) 9T (L) TT (9 9T(S) 8— (V) 8T (€) TI () S— (I) IP— (8) #2— (L) TT(9) 9€(S) 91— (B) 6€(€) €@ TT(I) g#\] ANLENE



